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QUESTION 1

Which three options are for deploying Cisco Collaboration Meeting Rooms products? (Choose three.)
A. CMR Premises

B. CMR Live

C. CMR Hybrid

D. CMR Cloud

E. CMR Virtual

F. CMR Security

Correct Answer: ACD

QUESTION 2

An administrator notices that when alias information is changed manually on an endpoint that is registered to an
Expressway, the changes are successful, but then revert back to their original state the following day. Which cause is
the most likely?

A. The changes are not being saved properly on the endpoint.

B. A template is being persistently pushed to the endpoint from TMS.

C. Atemplate is being pushed persistently to the endpoint from the Expressway.

D. The alias information of the endpoint is duplicated on another endpoint.

Correct Answer: B

QUESTION 3

Cisco Meeting Server can be deployed using three different deployment models, which option lists deployment models
that are the best solution to accommodate fail-over?

A. single combined server deployment

B. scaled and resilient server deployment
C. scaled and combined server deployment
D. single split server deployment

Correct Answer: B
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QUESTION 4

On which two operating systems and database applications does TMS rely? (Choose two.)
A. Oracle

B. MS Access

C. Windows Server

D. SQL

E. Linux Ubuntu

Correct Answer: CD

QUESTION 5

Where does an engineer lookfora list of all endpoints registered to an Expressway?
A. Status > Registrations > By Device

B. Configuration > Registrations > Registration List

C. Registrations can only be found in the CLI interface.

D. Status > Calls > Call History

Correct Answer: A
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